
Honors Math 3   Unit 1 Study Guide 2020        Name:________________________           

Graph each function 

1. 𝑦 = −2|𝑥 − 3| + 2     2. 𝑓(𝑥) = {
𝑥 + 2, 𝑖𝑓 𝑥 > 1

−𝑥 + 2, 𝑖𝑓 𝑥 ≤ 1
 

Vertex:________   

Domain:________   

Range:__________ 

 

 

 

 

3.  𝒚 ≤ −𝟑|𝒙 + 𝟏| − 𝟒      4.  Given the graph, write the equation: 

        (Assume  y x  is the parent function.)   

 

 

 

 

 

 

         y=_________________________ 

Evaluate the following piecewise functions for the given domain. 

5. 𝑓(𝑥) = {
𝑥2 − 1, 𝑖𝑓 𝑥 ≤ 0

2𝑥 − 1, 𝑖𝑓 0 < 𝑥 ≤ 5
3, 𝑖𝑓 𝑥 > 5

   6.  𝑓(𝑥) = {
5, 𝑖𝑓 𝑥 ≤ −3

−2𝑥 − 3, 𝑖𝑓 𝑥 > −3
 

𝑎)  𝑓(−2) = _____   𝑏)  𝑓(0) = ____   𝑐)  𝑓(5) = _____    𝑎)  𝑓(−4) = ______   𝑏) 𝑓(0) = ______   𝑐)  𝑓(3) = _______ 

 

d)   2𝑓(3) –  𝑓(6)  =  ___________         𝑑) 𝑓(𝑥) = −11             

 

 

 

 

Sketch 6 there --- 



7.  Evaluate the function using the given graph: 

 

  
 
 
 
 
 
 
 
 
 
 
 
                                                f.  ( ) 1f x    ; _____x    

 

8.  For the given functions, find each value. 

𝑓(𝑥) = −5, 𝑔(𝑥) = 𝑥2 + 2𝑥 − 1,    ℎ(𝑥) = 3𝑥 − 4 

 𝑎.  𝑓(3) =     ________       𝑏.  4𝑔(−4) =  ________     𝑐.  2𝑓(0)  + 𝑔(−1)–  3ℎ(8) =  ___________ 
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Function?___________ 

Domain:___________ 

Range:___________ 

Increasing:_________ 

Decreasing:_________ 

Positive:___________ 

Negative:___________ 



Solve each problem. SHOW your work and box in the final answer. Write the inequalities in interval 
notation and show the solution on a number line.  
11. |𝟐𝒙 − 𝟏| = 𝟓 12.    𝟐|𝒙 + 𝟒| − 𝟔 = 𝟏𝟎            

 

 

 

 

 

13.   |𝟑𝒙 + 𝟏| + 𝟏𝟎 = 𝟒      14.  |𝟑𝒙 − 𝟕| = 𝟓𝒙 − 𝟒    

  

 

 

 

 

15.        𝟐 + |𝒙 + 𝟓| > 𝟖                     16.  −𝟒|𝟑𝒙 + 𝟐| ≥ −𝟏𝟔 

     

 

 

 

  

17.    
|𝟐𝒙+𝟏|

𝟐
− 𝟑 < 𝟔 18. |𝒙 + 𝟖| < −𝟔 

 

 

 

19.  A packaging company has a tolerance of 0.3 oz for a bag of chips that is supposed to weigh 12 oz.  Write and 

solve an absolute value inequality for the acceptable weights. 

 


